b CHEZA|

DAEJEON METROPOLITAN CITY

ARIHHLETI D=2LH9 M2IXIA

HHEZAAN D=LH9 gt

& =T Dagejeon Confirmed
= 0IS&= Case Routes

200 s

D29 A =EIXHSEE ('21.09.15. 18A| J|E) zeszain/042-270-4039

&

i

BE | mwy | mmy | oy Eiﬁf” SEE SN
6314 Ol xHH 9.15 20 = [HH 6312H SHXIX}; 24 4 3
6313 Ol 9.15 40 B & 6312H XXt 2+ Al &
6312 bl 9.15 40 = AstX AL B 4l B
6311 Ol X 9.15 20 M3 AstX AL B Al &
6310 01X 9.15 30 Y37 xS XX} 2 4 3
6309 Ol xHe 9.15 40 LSrS ) AstXAL B Al &
6308 OlxHe 9.15 10 83 [HH 6029 &HZIX; 2+H 4d 3
X|St
6307 | o 915 DOt 40w sertw s e RIS
6306 il 9.15 30 M [HH 5860H &HEIXt 2+ 4l 3


https://www.daejeon.go.kr/index.do
https://www.daejeon.go.kr/drh/board/boardNormalView.do?boardId=normal_0096&menuSeq=1631&pageIndex=1&ntatcSeq=1380763508
https://covid.djpmhc.or.kr/
https://anshimcall.ontongdaejeon.kr/main.do
https://www.daejeon.go.kr/corona19/index.do?menuId=0003
https://www.daejeon.go.kr/corona19/index.do?menuId=0005
https://www.daejeon.go.kr/corona19/index.do?menuId=0007
https://www.daejeon.go.kr/corona19/index.do?menuId=0008
https://www.daejeon.go.kr/corona19/index.do?menuId=0011

6305 O] fHeH ,_9'15 10 1%’@£II [HX 6194H =HXIT} 2
E - mEy  sme | omn (ST SEE

6304 O] fHe 9.15 30 M3 a=3d 11219ﬂ SE
6303 O] fHe 9.15 20 =32 [H&X 6299H =rXIT} 2+
6302 | OI# | 915 | 30 7 4 6241w BT B
6301 [ piksl 9.15 20 B =4 QX ST 2
6300 | OIf# | 915 | 30 b STl E
6299 Ol 9.15 40 =32 HASIX AL S
6208 | OI# | 915 | 50 oM | M 6146H HEIT B
6207 | O | 915 | 20 2K ST E
6296 Ol xHEH 9.15 40 M3 [H& 6252H SHXIT}; 2
6205 | O | 915 | 60 47 ME BT} 2
6294 OlxHe 9.15 90 e M2 AT} 2
6203 | OI¥ | 915 | 40 N T S
6292 OlxHe 9.15 50 EE [H& 6267H SHXIX}; 243
6201 | OiH | 915 | 70 M7 4 =AsE5H ST B
6290 O] XHH 9.15 10 (SF - X 6146H =HXIT} 2
6289 | OI# | 915 | 40 M7 [HE 5982 BEITH ma
6288 O] fHe 9.14 20 g2 [HH 62685 SHXIX}; &
6287 | OIMH | 914 | 20 e OHE 62688 BXITH 2
6286 O] fHe 9.14 20 =2 [HH 6268H SHXIT}; &
6285 | OIfH | 914 | 20 M7 OHE 62198 ST
6284 Ol 9.14 10 =32 [HH 6252 SHXIT}; 24
6283 | OI# | 914 | 30 2 [hE 6112 T B
6282 | OItH | 9.14 um;ror e OHE 62818 BETH A
6281 | OIH | 914 | 20 e OHE 62688 BXIT 2
6280 | O | 914 | 30 M3 [T 6182 BT} ma
6279 Ol xHEH 9.14 20 M3 [H& 6198H SHXIX}; 2t
6278 | O | 914 | 40 M [T 6128w BT ma
6277 Ol xHEH 9.14 40 ISP [H& 6252H SHXIT}; 24
6276 | O | 914 | 20 z3 STl 5

6275 OlHe 9.14 30 =32 St XA =
6274 | OIM# | 914 | 30 ox7 SISt 5

6273 OlxHEH 9.14 80 M3 [H& 6255H SHXIT}; 243

I
o

o1

1M
o

Ot

i
o

0of1

1
o

Ot

i
o

o1

ik
o

Ot

1M
o

o1

in
o

o4

1M
o

0t

in
o

o4

1M
o

Ot

ih
o

o4

1M
o

Ot

I
o

o4

i
o

Ot

I
o

o4

i
o

Ot

I
o

o4

e
o

Ot

I
o

o1

i
o

0of1

i
o

o1

ik
o

Ot

1M
o

o1

I
o

Ot

1M
o

Of

in
o

o4

1M
o

Ot

in
o

o4

1M
o

0t



GRT2

6271

6270

6269

6268

6267

6266

6265

6264

6263

6262

6261

6260

6259

6258

6257

6256

6255

6254

6253

6252

6251

6250

6249

6248

6247

6246

6245

6244

6243

6242

6241

6240

BB
OIXHEH
OIxpe
Ol xHE
Ixhe
OIXHEH
1pyd
OIXHEH
1pkd
OIXHEH
OIxHe
Ixne
OIxHe
Ixne
OIxHe

Ixne

Ixne

Ixpe
OIXHEH
OIxpe
OIXHEH
1pkd
OIXHEH
Ixpe
Ol XHEH
1pkad
OIXHEH
OIxHe
OIXHEH
OIxHe
Ixne
OIxHe

Ixne

9.14

9.14

9.14

9.14

9.14

9.14

9.14

9.14

9.14

9.14

9.14

9.14

9.14

9.14

9.14

9.14

9.14

9.14

9.14

9.13

9.13

9.13

9.13

9.13

9.13

9.13

9.13

9.13

9.13

9.13

9.13

10

20

20

10

20

40

20

10

10

20

60

60

30

QI stot

20

30

30

40

20

20

20

40

10

50

20

10

30

30

50

50

R 14

Ot

O
14

AREHS

& 61700 =HXITtH 2

fig

[HE 62621 =HXIT} 2H

Jﬂ
P
=
Ot

[H& 6170 =HXIXt 2

[H& 5989 =tXIT} 2

el
=

H& 62364 =X}

r

e

[H& 6258 =HZIT}

[

e

2]
]

ot

S

—

Ot

t

ME SU=E Tt 2

[

r

& 62249 =HXIT} 2

[

o]
o

Tor

=N

o4

& 6216 2HEIT; &3

12

SERAL

Of4

12

SHEA

=

o

iy

[H& 61984 =tXIXt 2

EEEIUES

[H& 61148 =HXIXt 2

[H& 60564 =Xt 2E

[H& 56804 =HXIXt 2

ik
o

Ot

I
o

o4

i
o

Ot

i
o

o1

1
o

Ot

i
o

o1

ik
o

Ot

i
o

o1

1
o

Ot

1M
o

Of

in
o

o4

1M
o

Ot

in
o

o4

1M
o

Ot

ihl
o

o4

I
o

o4

ih
o

o4

ik
o

Ot

I
o

o4

i
o

Ot

I
o

o1

i
o

Ot

i
o

o1

1
o

Ot

1M
o

o1

ik
o

Ot

1M
o

o1

1
o

04

1M
o

0t

i
o

o4

1M
o

0t

I
o

o4



6239 | WMl | 940 | ongy SRS im e14pparit B 2R E:

= == =11)
6238 | Ol 9.13 20 oN3 SBHE A E HE B
6237 O] XHH 9.13 40 oS (& 6104 XXt A Al =
6236 | DIt | 9.13 20 SF il HSIXA 22 &
6235 OlxHe 9.13 40 M2 HStXAL B Al =
6234 | DIt | 9.13 40 =3 HSIE A 2 &
6233 Ol xHH 9.13 40 = [HH 6224H SHXIT}; 24 4l 3
6232 | DIt | 9.13 10 =3 [HX 5989 SHEIT} R+t 22 &
6231 | Ot | 9.13 40 Qa3 [HE 61048 SHEIT} 23 Z2| &
6230 Ol X 9.13 40 4y [H& 5790 SHXITt 2t Al &
6229 | Ot | 9.13 40 Qa3 [HE 57908 SHEIT} 2t ERIES
6228 Ol xHe 9.13 10 LS bS] [HF 6104H SHXITH 2t Al &
6227 | DI | 9.13 10 Qa3 [HE 60558 SHEIT} 2t Z2 &
6226 Ol xHe 9.13 30 = AstX AL B Al &
6225 | D | 9.13 30 43 2| M SRR} Z2| &
6224 byl 9.13 40 M2 HStXAL B Al &
6223 | D | 9.13 10 MR B 2 232H SHT B Z2 &
6222 O] XHH 9.13 10 M2 SStX AL B Al &
6221 | D | 9.13 20 SF il [HE 62178 BHEIT} 23 Z2 &
6220 O] xHH 9.13 20 M2 [HH 6219 XXt A RS
6219 | DIt | 9.13 20 43 T U 2 &
6218 | Ot | 9.13 20 M3 ME B SHTIT} 2 EEIES
6217 | Dt | 9.13 20 43 HSIX A 2 &
6216 OlxHe 9.13 20 M2 [HH 6198H SHXIT}; 24 4dl 3
6215 | DIt | 9.13 40 M3 [HE 6214 SHEIT} 221 2 &
6214 | DIt | 9.13 40 Qa3 ABIX A B ERIES
6213 Ol xHeH 9.13 10 (bS] [H& 6170 SHXITH 2t Al &
6212 01 XHH 9.13 10 Y32 [HH 6039 &4 ZIX}t 2+ 4 3
6211 Ol X 9.13 10 LSbSp) [H7 5915 SHXITt 2t Al &
6210 | D | 9.12 40 3 ABIXA E Z2| &
6209 Ol xHeH 9.12 20 M3 Mg =TT A Al &
6208 bl 9.12 40 = [HH 5808 &4EIXt 2+ 4 3
6207 | O | 9.12 30 SE ) £ HZ ST} 2 EEIES



6206 e 9.172 20 & 60485 AT e ad S
DE | ZEy | 2Hy | o SE TXIAR
6205 Ol xHe 9.12 10 [H& 60158 2HEIT}; 23 4d =5
6204 912 | 30 4 57058 BRI} 2zt %3 5
6203 9.12 40 H& 6061H 2HEIT}E 23 4d s
6202 912 | 40 DHF 61768 SHEITH 22t %3 5
6201 9.12 40 AstxAL E 4d s
6200 9.12 10 [H& 61941 =tXIXt 2 4d 3
6199 9.12 60 & 61198 =HTIXt 43 Adl =
6198 9.12 20 SIS 4d =
6197 9.12 80 & 61898 =TTt &+ 4d =
6196 9.12 10 [H& 59758 =HXIT}; 4d =
6195 9.12 20 [H& 5852 =HEIT} 23 4d 3
6194 9.12 10 H& 61709 =HEIT; 4d =
6193 9.12 40 [H& 6035 =HEIT} 3 4d 3
6192 9.12 10 SEIEI S 4d =
6191 9.12 20 [H& 6026 =HEIT}E 3 4d 3
6190 9.12 30 Tz 2690H 2HTITt £+EH 4d =
6189 912 | 80 287 ERE IV %3 5
6188 9.12 20 f44 :EEIN S 4d =
6187 912 | 40 287 ERE IV %3 5
6186 9.12 50 H& 61068 =TIt £+EH 4d 5
6185 912 | 20 271 B BT %3 5
6184 9.12 20 B EIEN S 4d s
6183 9.12 20 X 61799 =HZITt HH 4d 3
6182 9.12 30 B EEIN S 4d s
6181 912 | 20 20| B 2T} B 223
6180 9.12 60 & 5984H =ZITt &+ 4d =
6179 9.12 40 SIS 4d =
6178 9.12 10 Fd+ EEIEIN S 4d =
6177 9.12 skt F484 H& 61769 =HEIT}E 4d 5
6176 9.12 40 4 B EIEIN S 4d 3
6175 9.12 40 ERL RIS 4d =
6174 9.12 30 NE [H& 61435 =HEIT}; 23 Ad 3
6173 9.12 20 ER [H& 61435 SHEIT; 4d =



H#

6171

6170
6169
6168
6167
6166
6165
6164
6163
6162
6161
6160
6159
6158
6157
6156
6155
6154
6153
6152
6151

6150
6149
6148
6147
6146
6145
6144
6143
6142
6141

6140

rann

=
0%
0FE

Pyl

1pyd

OIxHEH

1pyld

OIxHEH

1pkd

OIXHEH

OIxpe

OIXHEH

OIxHe

I

OIxH

Ixne

OIxH

Ixpe

Ol xHE

Ixpe

ipyll

Ixpe

iyl

1pka

Ol xHE

Ixhe

OIxHE

IxHe

OIxHEH

OIxHe

OIXHEH

1pkad

Ixhe

OIxHe

Ixne

A+

9.11

9.11

9.1

9.1

9.11

9.1

9.1

9.1

9.1

9.11

9.1

9.1

9.1

9.1

9.1

9.11

9.1

9.1

9.11

9.1

9.1

9.11

9.1

9.1

9.1

9.1

9.1

9.1

30

20

10

10

60

10

60

20

20

20

80

60

70

80

10

30

40

20

20

30

10

60

30

10

10

10

30

10

20

30

~n

O
14

==

*%%%ﬂ g
CHE 60265 =TT 3

[HE 60204 =HXIT} A

Tz 2690 =TI

=
e
]

RV

& 602718 =HXIT} 2+3

[HE 6053t =HXIT} 2He

[H& 59864 =TTt 2E

[HE 6109t =HXIT} 2H

& 6075 =TIt 23

[HE 60754 =HXIT} 2H

[H& 60754 =TIt 23

[H& 60754 =Xt 2E

[H& 59961 =HXIXt 2

[H& 58921 =HXITt 2E

HE 3792 =TTt 2

[H& 60815 24Tt £+

[H& 61108 =HXITE 23

SEEIUE=

[H& 59794 =tXIXt 2

[H& 5984 =tXITt 2E

[HE 61068 =HZIX} 2He

[H& 6038 =HXIXt 2EH

[HE 5983t =HXIT} 2He

[H& 59904 =TTt 2E

[HE 61108 =HXIT} 2H

& 60734 =TIt 2E

[H& 54941 =tXITt 2

EEEIUES

FUTd AAT7TFHEY ALTITE T3



ooy Ty T——ou S e —
CEE R R T S T
6137 O] xHH 9.1 30 e AstX AL B 4 3
6136 | O 911 | 50 | DET | X 60758 ST B 2ol 5
6135 OlxHe 9.1 50 =7 [H& 60758 &HXITt 2 4l 3
6134 | DIt | 911 | 40 | 9HT | [HH6075H BAT} B 2ol 5
6133 01X 9.11 80 e [H& 60799 &HXITt & 4l 3
6132 | O 911 | 80 57 D4 6075H BEIT B 52l 5
6131 | i 911 | 10 MR O 127 mET B 2ol 5
6130 npukal 9.11 40 M= [H& 6127H SHXITt 2t A 3
6120 | O 911 | 60 M7 EEEIE 2ol 5
6128 npukal 9.11 30 e Astx At B A 3
6127 | O 911 | 10 37 EEEIE 2ol 5
6126 npukal 9.10 20 S HAstx At B A 3
6125 | DIiH | 910 | 20 | 9HT | [HH 5823 mET} B 2ol 5
o6 o 910 DU eun o s7o0m s e 2ol 5
6123 | O 910 | 10 MR OHE 6019 BEIT) B 2ol 5
6122 O] XHH 9.10 40 e [HE 5996 =HXITH 2t 4 3
6121 | O 910 | 10 57 O4 5089 BT} B 2ol 5
6120 O] xHH 9.10 60 e [H& 60769 HXITH 2 4 3
6119 | O 910 | 60 S| [h 6075 BET} B 2ol 5
6118 O] XHH 9.10 60 7 [H& 6078 &HXITH 2t 4dl 3
6117 | DIt | 910 | 10 | [AET  [HH 6015 HAT} B 2ol 5
6116 OlxHe 9.10 10 o [H& 6086 =HXITt 2t 4 3
6115 | DI | 90 | 10 | 9HT | X 6031¢ BT ma I
6114 OlxHe 9.10 30 44 [H& 5944 &hXITH & 4l 3
6113 | O 910 | 40 MR DHE 6075 BEIT B 52l 5
6112 OlxHe 9.10 60 7 [H& 60758 &HXITt & 4l 3
6111 npukal 9.10 20 s+ HAstx At B A 3
6110 | O 910 | 30 J7 B4 NE BT B 2ol
6109 nfpukal 9.10 20 S HAstx At B A 3
6108 | o | gq0 DM o phu ssaam s me SIS
6107 npukal 9.10 Fstots B [H¥ 6064H 2HXITt 2t A 3



6106

&

6105

6104

6103

6102

6101

6100

6099

6098

6097

6096

6095

6094

6093

6092

6091

6090

6089

6088

6087

6086

6085

6084

6083

6082

6081

6080

6079

6078

6077

6076

6075

6074

6073

1pka

Ol xHE

1pkd

OIXHE

OIxpe

OIXHEH

OIxpe

OIXHEH

OIxHe

Ixne

OIxHe

Ixne

OixHe

Ixhe

Ol XHE

Ixpe

ifpull

OIxpe

Ipulsl

1pkad

OIxHE

1pkd

OIxHE

Ixpe

OIXHEH

IxHe

OIXHEH

OIxHe

I

OixHe

Ixne

Ol

9.10

9.10

9.10

9.10

9.10

9.10

9.10

9.10

9.10

9.10

9.10

9.10

9.10

9.10

9.10

9.10

9.10

9.10

9.10

9.10

9.10

9.10

9.10

9.10

9.10

9.10

9.10

9.10

9.10

9.10

9.10

B
1o
=}

O

10

30

10

10

10

40

40

80

80

70

80

70

80

70

70

70

50

60

70

70

10

10

50

50

30

10

20

50

20

10

O
1

Ot
14

il
RN

=
1

O
14

Of

O

44

4

0
R

& 6064 =Xt 2E

[H& 60554 =HXIXt 2

[H& 60554 =HXITt 2E

[H& 58464 =tXIXt 2

& 6073 =TIt 2E

[H& 6073 =HXIXt 2

& 60614 =Xt 2E

[HE 6061 =HZIT} 2H

& 5978 =tXITt 2E

[HE 5978 =HXIT} 2He

[H& 59324 =hXITt 2E

[HE 5932t =HXIT} 2H

& 59324 =hXITt 2

[HE 5932t =HXIT} 2H

[H& 59324 =tXITt 23

[H& 59321 =HXITt 2E

[H& 59324 =tXITt 2

[H& 5932 =HEIT}; 3

[H& 59324 =tXIXt 2

OF

S-EIEIVES

J

[H& 5932t =tXIXt 2

& 59321 =hXITt 2E

[H& 59324 =tXIXt 2

[H& 60279 2HEIT}E 23

[H& 59894 =tXIXt 2



F2)
6071
6070
6069
6068
6067
6066
6065
6064
6063
6062
6061
6060
6059
6058
6057
6056
6055
6054
6053
6052
6051
6050
6049
6048

6047

6046

6045
6044
6043

6042

6041

ifpull

OIxpe

Ol xHE

1pkd

OIXHEH

Ixpe

OIxHEH

Ixpe

OIXHEH

OIxHe

Ixne

OIxHe

Ixne

OIxHe

Ixpe

Ol XHE

Ixpe

ipyll

Ixpe

iyl

1pka

OIXHE

OIxpe

OIxHE

OIxHe

OIxHe

OIxHe

OIxHEH

OIxH

Ixne

Ixne

9.10

9.10

9.10

9.10

9.10

9.10

9.10

9.10

9.10

9.9

9.9

9.9

9.9

9.9

9.9

9.9

9.9

9.9

9.9

9.9

9.9

9.9

9.9

9.9

9.9

9.9

9.9

9.9

9.9

9.9

10

20

40

40

20

40

10

50

60

40

30

10

20

20

10

50

10

10

20

40

10

20

40

50

20

20

Ot
1

o4
1

=
il
R

10
0x
44

=
il
R

=
]
1

10
0x
44

10
0%
44

10
0%
44

10
0x
44

THE 6026HFE I} 22t
[HE 60198 SHXIT} R+

[H& 60354 =HZIT}t 2

[

r

X 6019

picl
a
!
T
I

& 6020

ot
[al
=
e
i

& 6066H

picl
a
!
T
m

& 6018

ot
[al
=
re
[+

[H& 60264 =Xt 2E

[H& 60518 =TIt 2E

[H& 60514 =HXIXt 2

X 5632

il
al
pan!
re
r

& 5996

ok
gl
fe|
e
r

& 5989

il
al
pan!
re
r

[H& 59961 =HZIT} 2

[

r

i
o
Ot

1M
o
Of

in
o
OfH

1M
o
O

i
o
Of

1
o
Ot



6040

thd

6039

6038

6037

6036

6035

6034

6033

6032

6031

6030

6029

6028

6027

6026

6025

6024

6023

6022

6021

6020

6019

6018

6017

6016

6015

6014

6013

6012

6011

6010

6009

6008

6007

1=

il
R

Lok
>
e

T

1
ot
&
e
I

o
4
I
=
e

ik

Of
1
Jﬁ
I
r

=
il
44
ik

=
il
R

10
0x
44

10
0x
44

ik

Ot

I
o
Ot

e
o
O

ik
o
Ot

i
o
O

i
o
Ot

1
o
O

i
o
Ot

1
o
O

i
o
Ot

in
o
OfH

1M
o
Of

1
o
Ot

i
o
O

il
o
Ot

i
o
O

I
o
Ot

ik
o
O

I
o
Ot

i
o
O

I
o
Ot

1
o
O

I
o
Ot

1
o
O

i
o
Ot

ik
o
O

i
o
Ot

1
o
O

1M
o
O

in
o
OfH

1M
o
Of

1
o
Ot

1M
o
O

13

=)
EXIAFE



6026

6005

6004

6003

6002

6001

6000

5999

5998

5997

5996

5995

5994

5993

5992

5991

5990

5989

5988

5987

5986

5985

5984

5983

5982

5981

5980

5979

5978

5977

5976

5975

5974

B
OIXHEH
Ixpe
Ol xHE
1pkad
OIxHE
Ixpe
OIxHEH
1pkd
OIXHEH
OIxHe
Ixne
OIxHe
Ixne
OIxHe
Ixne
Ol XHE
Ixpe
OIXHEH
Ixpe
OIXHEH
OIxhe
Ol xHE
Ixhe
OIxHE
1pkd
OIXHEH
1pkd
OIXHEH
OIxHe
Ixne
OIxHe

I

9.8

9.8

9.8

9.8

9.8

9.8

9.8

9.8

9.8

9.8

9.8

9.8

9.8

9.8

9.8

9.8

9.8

9.8

9.8

9.8

9.8

9.8

9.8

9.8

9.8

9.8

9.8

9.8

9.7

9.7

20

20

10

50

50

40

40

30

60

10

40

20

20

10

40

40

20

20

20

60

10

30

60

20

10

80

20

10

10

60

SEEANTI(
250

10
0x
44

10
0x
44

N wm s75eumem ) 2

& 5979 =tXIT} 2

e
e

[H& 5842

Jtot
[al
=
e
r

X 5916

picl
a
!
T
I

& 5991H

JE
gj
rk
r

=

ra
o
©
=)
EE
Jﬁ
Zj
e
I

12
1%
A
=
Of

ZrRlE

ik
o
O

I
o
Ot

i
o
O

i
o
Ot

ik
o
O

i
o
Ot

ik
o
O

i
o
Ot

i
o
O

1M
o
Ot

1
o
OfH

1M
o
Ot

in
o
Ot

1M
o
O

ihl
o
Ot

i
o
O

I
o
Ot

i
o
O

I
o
Ot

i
o
O

I
o
Ot

i
o
O

I
o
Ot

ik
o
O

i
o
Ot

1
o
O

i
o
Ot

1
o
O

1M
o
O

in
o
0fH

i
o
Of

i
o
Ot



5973
&

5972

5971

5970

5969

5968

5967

5966

5965

5964

5963

5962

5961

5960

5959

5958

5957

5956

5955

5954

59563

5952

5951

5950

5949

5948

5947

5946

5945

5944

5943

5942

5941

=
0F =
oxrE

ifpull

npuksl

1pkd

OIXHE

OIxpe

Ol xHEH

OIxpe

OIXHEH

OIxHe

Ixne

OIxH

I

OIxH

Ixpe

Ol xHE

Ixpe

ifpull

Ixpe

ifpykl

OIxpe

Ol XHE

Ixpe

OIXHE

OIxpe

Ol XHEH

OIxHe

OIXHEH

OIxHe

Ixne

1pka

Ixne

OIxHe

9.7

9.7

9.7

9.7

9.7

9.7

9.7

9.7

9.7

9.7

9.7

9.7

9.7

9.7

9.7

9.7

9.7

9.7

9.7

9.7

9.7

9.7

9.7

9.7

9.7

9.7

9.7

9.7

9.7

9.7

9.7

20

20

40

50

10

20

10

30

40

20

30

40

30

10

50

40

10

10

30

20

40

40

20

20

50

40

20

20

20

20

gl

= R
il 0x 0x 0x
LR TR TR TR

O
R

& 59624 =HXITt 2E

[HE 5962

picl
a
b
T
I

& 5938

ot
rA
=
e
[

& 5770

picl
a
!
T
m

=2
rx
o1
()]
S
=)
rE
ot
[al
=
e
[+

& 5922t =tXITt 23

[H& 59221 =HXITH 2E

& 59154 =HXIXt 2

[H& 59221 =hXITt 2EH

& 5922t =TTt 2

[H& 59154 =HXITt 2E

& 5915 =tXIXt 2

& 5944 =hXITt 2EH

o]
A

o

IS

& 59021 =HXITt 2E

r

[H& 59384 =tXIT} 2

[

r

MIZ 10318 =TT 2

[

tay
=
)—

(TS!OD'

i
o
O

i
o
O

I
o
Ot

1
o
O

i
o
Ot

I
o
O

i
o
Ot

ik
o
O

i
o
Ot

1
o
OfH

1M
o
Ot

1
o
OfH

i
o
O

ih
o
Ot

i
o
O

I
o
Ot

i
o
O

I
o
0t

ik
o
O

I
o
Ot

i
o
O

ik
o
Ot

1
o
O

i
o
Ot

1
o
O

i
o
Ot

1
o
O

1M
o
Ot

1
o
OfH

1M
o
Of

in
o
Of

i
o
Of



He

5939
5938
5937
5936
5935
5934
5933
5932
5931
5930
5929
5928
5927
5926
5925
5924
5923
5922

5921
5920

5919
5918
5917
5916
5915
5914
5913

5912
5911

5910

5909

RaNK

=
0%
0FE

Ol e

Ixpe

Ol xHE

1pkd

Ol XHE

1pk

OIXHEH

OIxHe

OIXHEH

OIxH

Ixne

OIxH

Ixne

OIxHe

Ixne

Ol xHE

Ixpe

ipylkl

Ixpe

Ixpe

1pkad

Ol XHE

Ixpe

OIXHEH

1pkd

OIXHEH

OIxHe

OIXHEH

Ixne

Ixne

OIxHe

AITHEA

9.7

9.6

9.6

9.6

9.6

9.6

9.6

9.6

9.6

9.6

9.6

9.6

9.6

9.6

9.6

9.6

9.6

9.6

9.6

9.6

9.6

9.6

9.6

9.6

9.6

9.6

9.6

9.6

9.6

40

50

40

20

70

70

20

20

30

50

20

40

20

30

40

50

40

NESE;

50

20

60

30

20

40

40

RN

==

[HE 5694

& 57734

[H® 5817

12
1o
P

12
Lo
F

& 5912

[H& 5906

[HX 5866H

[HX 5456

[H& 5905H

X RONRHEH

SRIT} 2

(i3

SEITH 2

Jtok
gal
b
e
-]

SHTITE

r

=
Of4

=
Ot

ot
rA
=
re
i

il
al
pan!
re
r

il
al
pan!
rk
r

il
al
pan!
re
r

o
gl
e
e
r

SHXITE k24

LR

|_

I
o
Ot

i
o
O

ik
o
Ot

1
o
O

i
o
Ot

1
o
O

i
o
Ot

1
o
O

1M
o
Ot

1
o
OfH

1M
o
Of

i
o
Ot

i
o
O

ih
o
Ot

i
o
O

I
o
Ot

ik
o
O

I
o
Ot

I
o
Ot

I
o
Ot

i
o
O

i
o
Ot

ik
o
O

i
o
Ot

I
o
O

i
o
Ot

1
o
OfH

in
o
OfH

1
o
Ot

i
o
O

431 =



8467
5906
5905
5904
5903
5902
5901
5900
5899
5898
5897
5896
5895
5894
5893
5892
5891
5890
5889
5888
5887
5886
5885
5884
5883
5882
5881
5880
5879
5878
5877
5876

5875

npuksl

OIxpe

OIXHE

1pkd

Ol XHEH

1pkd

OIXHEH

OIxHe

OIXHEH

OIxHe

I

OIxH

Ixhe

OIxHE

Ixne

ipyll

Ixhe

ifpyll

1pka

Ol xHE

OIxpe

OIXHE

OIxpe

OIxHEH

Ixpe

OIXHEH

OIxH

Ixne

1pka

I

OIxH

9.6

9.6

9.6

9.5

9.5

9.5

9.5

9.5

9.5

9.5

9.5

9.5

9.5

9.5

9.5

9.5

9.5

9.5

9.5

9.5

9.5

9.5

9.5

9.5

9.5

9.5

9.5

9.5

9.5

9.5

9.5

B
1o
=}

20

60

20

50

30

20

20

20

20

40

60

40

20

20

30

50

20

60

1o
=

30

30

40

60

[H& 58554 =TTt 2E

[H& 58721 =HXITt 2E

[H& 58604 =HXIXt 2

[H& 5860 =HXIXt 2E

& 5692t =TTt 2

SEEJUE=

[H& 5743H =HXIT}E 23

& 5692 2HEIT}; 3

& 56924 =tXIXt 2

[ 5849 =tXITt 2E

[HE 58504 =HZIT} 2He

[H& 58504 =HXITt 2E

[HE 53624 =HXIXt 2

x;:[ |;‘o'}'
= =

I
o
Ot

i
o
O

I
o
Ot

1M
o
O

i
o
Ot

ik
o
O

i
o
Ot

1
o
O

1M
o
Ot

in
o
OfH

1M
o
Of

1
o
OfH

1M
o
O

ih
o
Ot

1M
o
O

I
o
Ot

i
o
O

I
o
Ot

ik
o
O

I
o
Ot

i
o
O

I
o
Ot

1
o
O

i
o
Ot

1
o
O

i
o
Ot

1
o
O

1M
o
Ot

1
o
0t

1M
o
Ot

i
o
Ot

i
o
Of



5874
&
5873
5872
5871

5870

5869

5868

5867

5866

5865

5864

5863

5862

5861

5860

5859

5858

5857

5856

5855

5854

5853

5852

5851

5850

5849

5848

5847

5846

5845

5844

5843

1pka

Ol xHE

1pkd

OIXHEH

OIXHEH

OIxpe

OIXHEH

OIXHEH

OIxHe

Ixhe

OIxHe

Ixpe

Ol XHE

Ixpe

ifpukl

ifpyll

ifpull

1pk

Ol xHE

1pkd

OIXHE

Ixpe

OIXHEH

1pkd

OIXHEH

OIxHe

Ixne

OixH

Ixne

OIxHe

9.4

9.4

9.4

9.4

9.4

9.4

9.4

9.4

9.4

9.4

9.4

9.4

9.4

9.4

9.4

9.4

9.4

9.4

9.4

9.4

9.4

9.4

9.4

9.4

9.4

9.4

9.4

9.4

9.4

20

20

50

30

30

20

20

40

20

30

20

20

60

20

20

40

20

s

e

x A

41 2 B

10
0 >
44 g

0t
14

al
>
Tk

[H& 5357 =HXIT} 2

& 5357

[H& 5817

7H

=

[HZ 5861

2]
A

skX
stX

[HX 5823

& 5720

& 5823

2]
]

X

_|o+

[HX 5568

& 5861H

Jl?-’

&7l

H 34X

=

Jor e e ->.:
rA r= rA
= = =
e e e

_>,:

H 34X

=FING

ZITHE

I
I

Tt 2

r
I

LIXF 2

=
S

LTt

e
=

e
e

]

rru

[

[

r

[

[H& 5828 =HEIT}; 3

ME

Jtot

& 5793

01)!

T

X+ &

o

H 34X

Jl?-’

2

=

LTt 2

TIXH 2
3
=
3
=
5
=
3
=
£
TITH 2
INEEL
TIXE 2
=
E5
3

i

ik
o
O

i
o
Ot

1
o
O

1
o
OfH

1M
o
Of

1
o
Ot

1M
o
O

I
o
0t

1M
o
O

I
o
Ot

i
o
O

i
o
O

i
o
O

I
o
Ot

1
o
O

I
o
Ot

1
o
O

i
o
Ot

ik
o
O

i
o
Ot

1
o
O

1M
o
Of

in
o
OfH

1M
o
Of

1
o
Ot

1M
o
O



5841

5840

5839

5838

5837

5836

5835

5834

5833

5832

5831

5830

5829

5828

5827

5826

5825

5824

5823

5822

5821

5820

5819

5818

5817

5816

5815

5814

5813

5812

5811

5810

B
OIXHEH
1pkad
Ol xHE
OIxpe
OIXHE
1py
OIXHEH
OIxHe
OIXHEH
OIxHe
Ixne
OIxH
Ixne
OIxH
Ixpe
Ol XHE
Ixpe
OIXHEH
Ixpe
OIXHEH
1pka
Ol xHE
1pkd
OIxHE
IxHe
OIXHEH
OIxHe
OIXHEH
1pyk
Ixne
OIxHe

Ixhe

Jlot
3

9.4

9.4

9.4

9.4

9.4

9.3

9.3

9.3

9.3

9.3

9.3

9.3

9.3

9.3

9.3

9.3

9.3

9.3

9.3

9.3

9.3

9.3

9.3

9.3

9.3

9.3

9.3

9.3

9.3

9.3

60

20

60

20

80

60

40

60

30

20

30

30

40

30

60

30

30

30

40

20

40

30

30

20

30

20

40

20

40

60

10
0x
44

10
%
14

=
il
RN

SRS

& 5680

& 5806

& 57129 =+

AHSHX
fan R B

& 5538H

& 55444

[H& 5601

& 5691

[HH 5680 =&
[HX 5680H 2!
SEEIT

[HX 5770H &l
[H&H 5711 =
27| 2% 27
[HH 5651 =&
[HHX 5663H 24!

SHRITH 2+
ST A

[H& 56634 =HXIXt 2

& 5765

TIX} 2k

ZrRlE

1
o
O

I
o
Ot

i
o
O

I
o
Ot

ik
o
O

i
o
Ot

1
o
O

i
o
Of

e
o
O

1M
o
Ot

1
o
OfH

1M
o
Of

i
o
Ot

i
o
O

I
o
Ot

i
o
O

I
o
Ot

i
o
O

I
o
Ot

ik
o
O

I
o
Ot

i
o
O

I
o
Ot

1
o
O

i
o
Ot

e
o
O

i
o
Ot

1
o
O

1M
o
O

i
o
0fH

1M
o
Of

1
o
OfH



5809

&

5808

5807

5806

5805

5804

5803

5802

5801

5800

5799

5798

5797

5796

5795

5794

5793

5792

5791

5790

5789

5788

5787

5786

5785

5784

5783

5782

5781

5780

5779

5778

5777

bkl

S

OIxpe

Ol XHH

1pkd

1yl

Ixhe

1yl

1pyd

1yl

1pkd

1yl

OIxHe

I

OIxHe

Ixpe

OIxH

Ixpe

Ol XHE

Ixpe

Ol XHH

Ixpe

Ol XHEH

1pkad

Iyl

Ixpe

1yl

1pykd

1yl

OIxHe

1pykd

Ixne

Ixhe

OIxHe

9.3

9.3

9.3

9.3

9.3

9.3

9.3

9.3

9.3

9.3

9.3

9.3

9.3

9.3

9.3

9.3

9.3

9.3

9.3

9.3

9.3

9.3

9.2

9.2

9.2

9.2

9.2

9.2

9.2

9.2

60

30

40

10

60

40

60

20

20

60

20

50

30

30

60

20

F=tot

70

20

30

60

70

40

10

30

30

10

20

80

50

10
0x
44

SEEIE
T4 57534 12T} 2
ZJ| SE AT} B

2
ra
o1
N
@
EE
JE

2]
]

& 57524 =HX| Xt 2

& 56335 2HEIT}; 3

[H& 511689 =HXIT}E 23

[H& 5680 =HEIT}; 3

[H& 56804 =HXIXt 2

B &= T 2H
EEIEIVES

[H& 56158 2HEIT}; 3

[H& 56804 =HXIXt 2

ot
W

1M
o
O

1
o
0fH

i
o
OfH

i
o
Of



H#®

5775
5774
5773
5772
5771
5770
5769
5768
5767
5766
5765
5764
5763
5762
5761
5760
5759
5758
5757
5756
5755
5754
5753
5752
5751
5750
5749
5748
5747
5746
5745

5744

raan

=
0%
0FE

Ol e

Ixpe

Ol xHE

1pkd

Ol XHE

1pk

OIXHEH

OIxHe

OIXHEH

OIxH

Ixne

OIxH

Ixne

OIxHe

Ixne

Ol xHE

Ixpe

ipylkl

Ixpe

iyl

IxHe

Ol xHE

Ixhe

OIxHE

1pkd

OIxHEH

OIxHe

OIXHEH

OIxHe

Ixhe

OIxHe

Ixne

A+

9.2

9.2

9.2

9.2

9.2

9.2

9.2

9.2

9.2

9.2

9.2

9.2

9.2

9.2

9.2

9.2

9.2

9.2

9.2

9.2

9.2

9.2

9.2

9.2

9.2

9.2

9.2

9.2

9.2

9.2

9.2

I_O[lH

60

30

20

30

30

30

30

20

30

20

40

20

20

30

10

20

30

30

40

20

20

50

20

ra

ZHEEREX | (A

ZX1)

[HEl_I

¥

10
14

=
il
RN

=
10
14

OfH
R

o4 Ot O
14 R 14

O
RN

O
14

=
il
1

e
I

(4% 568QEL2XITt
H==

& 5680H 2HXIX}

e
r

2]
A

o

53

=

=
=)

& 56808 2HZIXt £

re
=

[H& 56804 =HXIT} 2

I
I

[H& 56155 =HXIT} 2

HH

12
Tor

=N

0ofH

12

stx

=
Ot

[HE 5460 =HXIT} 2H

& 57384 =hXIXt 2E

[HE 57261 =HXIT} 2H

& 57264 =TI 2EH

[HE 5726 =HXIT} 2H

& 57261 =TIt 2

[HE 57364 =HXIT} 2+

ot
oc
rx
)
ot
ga
>
al
o

SEEIUE=

[H& 57209 =HXITE 23

& 57521 =HXITt 2E

[H& 53274 =TTt 2

& 5714 = XX 2E

MELT X



0749 OTAT =T J.Z U XTI+ HHLATS =085
Yo | 558 R OB i | gmeoiifman | 3E
5741 O] fHeH 9.2 40 H=E32 [H& 5680 =HEIX; 24 Al 5
5740 Ol 9.2 30 H=H3 [H& 57238 =X 242 Al 5
5739 O] xHeH 9.2 20 Q4 HQIU=XH8.19, MHIAEH Al &
5738 Ol 9.1 20 M3 ZJ| Nk SHXIT; 2+ Al 5
5737 O] XHeH 9.1 20 pp et XAL = Al &
5736 Ol 9.1 30 s3 St XA = Al 5
5735 O] XHeH 9.1 10 M3 ME AA498H SHXIT; 22 Al &
5734 Ol 9.1 30 M3 47| otk 2XITH 2k Al 5
5733 O] XHeH 9.1 20 M3 [H& 57208 SHXIX; 22 Al &
5732 O] XHEH 9.1 40 H=H32 [H&X 5573H SHXIT} 243 Al 5
5731 Ol 9.1 40 [H= 32 HASIX AL = A 3
5730 O] XHH 9.1 20 s34 IS Al 5
5729 Ol 9.1 20 B HASIX AL = Al 3
5728 OlHe 9.1 40 M3 [H& 5570 =HXIT} & A 5
5727 Ol 9.1 40 (=P HASIX AL = Al 3
5726 O] XHH 9.1 40 M3 AstXAL = Al 5
5725 Ol 9.1 50 (=P ) [HF 5589 =tXIT} 2+ Al 3
5724 O] fHeH 9.1 30 43 [H&X 5460H =HXIT} 2 Al 5
5723 Ol 9.1 40 (=P ) HASIX AL = Al 5
5722 O] fHe 9.1 10 =3 HetX AL = Al &
5721 Ol 9.1 50 H=H3 HASIX AL = Al 5
5720 O] XHH 9.1 20 B HstX AL = Al &
5719 Ol 9.1 50 S4d3 [H& 5609H =HXIT} 2+ Al 5
5718 O] XHH 9.1 20 [SFo [H&X 5494H = XIT} 2 Al &
5717 Ol 9.1 30 M3 St XA = Al 5
5716 O] XHeH 9.1 30 H=32 HASIX AL S Al &
5715 | Oii# | 91 | 20 wp o METETBRRRIN g
5714 Ol 9.1 20 B HASIX AL S A 3
5713 O] XHEH 9.1 50 P IS A 5
5712 Ol 9.1 60 N3 HASIX AL = A 3
5711 O] XHH 9.1 20 s [H&X 5705 SHXIT} 23 Al 5
R71N MItHEH a1 2N = NTHXH R7NREH SHEXITE b2 A3l =



:
i
i
i
i
J
i
0
i
1
[0

oE | e | wEm | o [UERT odm%e =]
5708 | O | 9.1 20 =2 [hE 5663 T B H3) 5
5707 O] fHe 9.1 20 B [H&X 5663H =HXIT} 2 Al 3
5706 O | 9.1 20 BT NN 5616M SHET B H3) 5
5705 | O 9.1 20 z3 ST Z 23| 5
5704 | O | 91 10 =2 [hE 5663 ST B 23 5
5703 Ol 9.1 20 ST [HH 5663H SHXIX}; 24 Al 3
5702 | OIE | 9.1 10 =2 [hE 5663 ST B 23 5
5701 | O 9.1 20 ox7 ISR Z 23l &
5700 Ol 9.1 20 3 St XA = Al =
5609 | Ol | 9.1 30 z37 ST Z %3l 5
5698 OlxHe 9.1 20 e [H& 5663H XX} 2t Al =
5697 | O | 9.1 60 z3 ST Z 23l 5
5696 OlxHe 9.1 30 . [H& 53354 SHXIX}; 2+ 2RI ES
5695 | OIHM | 9.1 40 =7 [4E 5335 BT B #3) 5
5694 [ piksl 9.1 20 M3 [HX 5615H =HXIT} 23 RIS
5693 | OIH#M | 9.1 40 BT DX 5478M SEIT B %3l 5
5602 | DI 9.1 20 M7 | M2 HET 2uT B H3l 5
5691 | O | 9.1 20 OMT | [HH 5615H HTIT B 53l &
5690 O] fHe 9.1 10 =32 X 5693H X 2t Al =
5689 | O | 9.1 20 47 ST E H3) 5
5688 Ol 9.1 20 M3 [H&X 5639H =XIT} 2+ Al 3
5687 | O | 9.1 60 M3 OHE 50508 SET A H3) 5
5686 | Ol | 9.1 10 OMT AL =A430M BT B 23l 5
5685 | O | 9.1 20 M7 [ 5639w ST ma 23 5
5684 | Ol | 9.1 20 M7 O 5641w 2T} B 23l 5
5683 | OIM | 9.1 20 43 6"%’2”561}?% a2 22z
5682 | Ol | 9.1 10 7 [ 56508 2T} B 23l &
5681 Ol 9.1 60 =32 [H& 5680H =HXIX}; 2t& Al =
5680 | OIHM | 9.1 40 me ST Z 23l 5
5679 OlxHe 9.1 10 (SPS [H& 5659H SHXIX}; 2ta Adl =
5678 | O | 9.1 30 9MT | [HH 5659M HTIT B #3) &
5677 01 XHEH 8.31 EIET0] == M3 HSIX AL = Hdl =



| mme | oy HEEAXOH ,

675 | HEE HBE OB Hi) xHS5Fs

5675 Ol 8.31 10 M= [H% 55684 =HXITH 2t
5674 | O | 831 | 60 27 OHH 5655 BT} R
5673 1puksil 8.31 20 a4 [HE 5494 SHXITH 2
5672 | DI | 831 | 40 | R8T | I 5483% BT B
5671 1puksil 8.31 30 a4 M2 &STXF oA
5670 | DIt | 831 | 20 4 ERENE

5669 | DI | 831 | 20 == EREIE

X|SH

5668 | DIt | 831 | DCUNzo o s37gm sy me
5667 | DIiH | 831 | 50 | [4ET EREIE

5666 npukal 8.31 70 JNE =5 S 68H =TT} HH
5665 | DIl | 831 | 40 z7 EREIE
5664 nfpukal 8.31 40 =7 & 56508 =Xt A
5663 | DI | 831 | 10 z7 EREIE

5662 npukal 8.31 20 RYF & 5632 =HZIXt A
5661 | DI | 831 | 20 £7 | OHH 5636 BT 2
5660 ksl 8.31 20 S AstX At B

5659 | Dl | 831 | 40 | Qa7 EREIE

5658 ksl 8.31 40 M= AstX At B

5657 | O | 831 | 30 z7 EREIE
5656 [ piksl 8.31 50 e [H& 56258 ZHXITH &
5655 | O | 831 | 60 z7 EREIE
5654 1puksl 8.31 40 e AstX AL B

5653 | Dl | 831 | 40 | Qa7 ERENE

s652 | OItiH | 831 | 20 | 947 EREIE

5651 | DItH# | 831 | 40 S7 | OHH 5650 BT} 2R
5650 | DI | 831 | 10 == EREIE

5649 npukal 8.31 40 e HAstx At B

5643 | DI | 831 | 20 47 EREIE

5647 npukal 8.30 20 s & 5237H =HZITt A
5646 | DIt | 830 | 20 ST OhE dodse I R
5645 npukal 8.30 10 s+ & 54914 =HZITt A
5644 | DI | 830 | 40 | R8T | [ 55648 ST B

e
o

Ot

I
o

Ot

1M
o

0f

in
o

o4

1M
o

Of

1
o

o4

1M
o

Ot

I
o

o4

1M
o

Ot

I
o

o4

i
o

Ot

I
o

o4

i
o

Ot

I
o

o1

i
o

Ot

i
o

o1

1
o

Ot

i
o

o1

ik
o

Ot

1M
o

o1

in
o

o4

1M
o

0t

1
o

o4

1M
o

Of

i
o

o4



st

IX} 2

=i

& 562

B

w

B

3848

Kio
Rr

1pkad 8.30 10 M+

5642

Kio
Rr

OlxHe 8.30 20

5641

Kio
Rr

1pka 8.30 20

5640

Kio
Rr

OIXHEH 8.30 20

5639

Kio
Rr

1pkd 8.30 20

5638

Kio
Rr

il

OIXHEH 8.30 20

5637

Kio
Rr

re
K0

OIxpe 8.30 20

5636

OIXHEH 8.30 10

5635

Kio
Rr

il
1l

=J
or

Ol xHE 8.30 10

5634

Kio
Rr

r+
X0
O

OIXHEH 8.30 20

5633

Kio
Rr

rk
X0
O

Ol xHE 8.30 20

5632

Kto
Rr

Ixhe 8.30 50

5631

Kio
Rr

r+
ar

Ol xHE 8.30 10

5630

Kto
Rr

r+
X0
O

Ixpe 8.30 20

5629

Kio
Rr

Iyl 8.30 10

5628

Kio
Rr

Ixpe 8.30 10

5627

Kio
Rr

rr
1o

OlxHe 8.30 40

5626

Kio
Rr

rk

Ixpe 8.30 40

5625

Kio
Rr

rt
X0
Ok

OlxHe 8.30 40

5624

Kio
Rr

Tl

=J
or

OlxHe 8.30 30

5623

Kio
Rr

Ol xHE 8.30 20

5622

Kio
Rr

™

il
A

=J
o
x|

Ko

=

rk
X0
O

1pkad 8.30 40

5621

Kio
Rr

OIXHEH 8.30 20

5620

Kio
Rr

r+
ar

1pyd 8.30 40

5619

Kio
Rr

il
1l

o

OIXHEH 8.30 20

5618

Kio
Rr

il

OIxHE 8.30 40

5617

Kio
Rr

il

OIXHEH 8.30 40

5616

Kio
Rr

rk
X0
O

Ol xHE 8.30 20

5615

Kto
Rr

OIXHEH 8.30 10

5614

Kio
Rr

rr
1o

OIxHE 8.29 30

5613

Kto
Rr

il

I 8.29 10

5612

Kio
Rr

il

Ol xHe 8.29 50

5611



5609

5608

5607

5606

5605

5604

5603

5602

5601

5600

5599

5598

5597

5596

5595

5594

5593

5592

5591

5590

5589

5588

5587

5586

5585

5584

5583

5582

5581

5580

e

B

OIXHEH
1pykd
Ol xHEH
1pyd
OIxHEH
1pylsd
1Pl
1pyd
1Pl
1pylsd
1Pyl
1pyl

1Pyl

1Pyl

Ol xHe

OIXHEH
1pyld
OIXHEH

1pka

1pyld

1pyd
OIxHEH
1pylsd
1Pl
1pylsd
OIXHEH
OIxHe
Ixne

OIxHe

OIxHe

A+

8.29

8.29

8.29

8.29

8.29

8.29

8.29

8.29

8.29

8.29

8.29

8.29

8.29

8.29

8.29

8.29

8.29

8.29

8.29

8.29

8.29

8.29

8.29

8.28

8.28

8.28

8.28

8.28

50

20

20

50

20

40

50

20

20

20

40

50

20

20

40

30

30

10

an

Of

O

44

MIZE 888 =HXIT} 2

iX 5515

HSIX
A

[H& 5584

(i 5584

[H& 5584

12

S

18

stx

H& 55744

RN

[H& 558181

ASH
%

ToF
P

—
fa

[HZ 5574

& 5376

H& 5574

12
1o
B

12
1o
kA

12
1o
B

T FeroR

Il y=-

=

an

=zl

[

b}
e

At

Ot

At

o4

XX} 2

O

B =TIt 2

=
=)

H 2t XITH 2

e
I

2T 2

e
r

ST 2

F_.“i

=
Ot

=
Ot

=
Of

[

ALTITI TIL3d

ZrRlEt

1
o
O

ih
o
(]

i
o
o4

ih
o
(]

1Y
o
o4

1M
o
(U]

I
o
of4

1M
o
(U]

1Y
o
0of4

1M
o
Uk

1
o
[yl

1M
o
Uk

in
o
(]

ih
o
(]

i
o
o4

i
o
o4

ih
o
(b

N
o
o4

I
o
(]

I
o
(]

ik
o
(]

1
o
o4

1M
o
(U]

1Y
o
0of4

1M
o
(U]

1
o
O

1M
o
O

1
o
0fH

1M
o
Of



o07Y
547
5577
5576
5575
5574
5573
5572
5571
5570
5569

5568

5567

5566

5565
5564
5563

5562
5561

5560
55569
5558
55657
5556
5555
5554
5553

5552
5551

5550
5549

5548

8.28

8.28

8.28

8.28

8.28

8.28

8.28

8.28

8.27

8.27

8.27

8.27

8.27

8.27

8.27

8.27

8.27

8.27

8.27

8.27

8.27

8.27

8.27

8.27

8.27

8.27

8.27

8.27

8.27

50

60

20

20

50

40

50

20

20

20

40

50

0
R

44

O
1

=
=)

10
0x
44

10
0x
44

T 0000 S TAT O

b SES

(1 55368 SFXIT} 21

[H& 5575 =HXITt 2E

& 54799 =tXIT} 2

e
=

[H& 55324 =tXITH 2

[

HASEX
]

Jm

2:

=
S

[H& 54744

ot
gal
=
i

rk

[H& 5538

It
A
feu|
e
3

& 5337

It
A
feu
e
I

[H& 53394 =HXITt 2E

[H& 5261 =Xt 2

& 52374 =hXITt 2E

[H& 52374 =TTt 2

[H& 52884 =HXITt 2E

i
)
2
(o2}
[ee]
e
I
&
2'—|_
|'_|

o

[H& 55008 =HXIXt 2E

[HE 5503t =HXIT} 2He

[H& 55374 XXt 2E

[H& 55374 =TTt 2E

W5

ik
o

Ot

I
o

o4

i
o

Ot

I
o

o1

1
o

Ot

i
o

o1

ik
o

Ot

1M
o

o1

1
o

Ot

1M
o

Of

1M
o

Ot

I
o

o4

I
o

o4

1M
o

Ot

I
o

o4

i
o

Ot

i
o

Ot

ik
o

Ot

I
o

o4

i
o

Ot

I
o

o1

ik
o

Ot

i
o

o1

ik
o

Ot

i
o

o1

i
o

Ot

1
o

o4

in
o

o4

1M
o

0t

1
o

o4



5547

thd

5546

5545

5544

5543

5542

5541

5540

5539

5538

5537

5536

5535

5534

5533

5532

5531

5530

5529

5528

5527

5526

5525

5524

5523

5522

5521

5520

5519

5518

5517

5516

5515

5514

OIxpe

Iyl

OIxpe

1yl

1pkad

1yl

OIxHe

1yl

OIxHe

Ixne

OixHe

I

OIxHe

Ixpe

Ol xHE

Ixpe

ifpylkl

OIxpe

byl

1pkd

OIXHEH

1pkd

OIXHEH

OIxpe

OIXHEH

OIxHe

OIxHEH

OIxH

Ixne

OIxHe

Ixpe

8.27

8.27

8.27

8.27

8.27

8.27

8.27

8.27

8.27

8.27

8.27

8.27

8.27

8.27

8.27

8.27

8.27

8.27

8.27

8.27

8.27

8.27

8.27

8.27

8.26

8.26

8.26

8.26

8.26

8.26

8.26

30

60

60

20

30

30

30

20

60

30

10

10

50

20

30

20

10

40

20

20

70

20

10

40

30

20

10

20

50

20

70

=
1

O
14

=
R

O
14

O
R

=
]

O
1

[ 54894 =TTt 2

12
%
A
=
Ot

=13
oI

12
A

At

O

& 5362H =TIt £+EH

SEEI\

==

s

=
S

& 5489 =tXIT}

[H& 54638 =HZIT}

& 54655 =X}

[H& 5288 =tZIT}

2]
]

Jo
A
=
0t

[H& 48654 =TTt 23

LE

e

[

rk



358

5512

5511

5510

5509

5508

5507

5506

5505

5504

5503

5502

5501

5500

5499

5498

5497

5496

5495

5494

5493

5492

5491

5490

5489

5488

5487

5486

5485

5484

5483

5482

5481

B
1pkad
OIXHEH
1pka
OIXHE
1pkd
OIXHEH
OIxpe
OIXHEH
OIxHe
OIXHEH
OIxHe
Ixhe
OIxHe
Ixpe

Ol XHE

Ol XHE

OIXHEH
Ixpe
OIXHEH
1pk
Ol xHE
1pkad
OIXHEH
1py
OIXHEH
1pkd
OIXHEH
1pykd
Ixne
1pyka
Ixne

OIxHe

8.26

8.26

8.26

8.26

8.26

8.26

8.26

8.26

8.26

8.26

8.26

8.26

8.26

8.26

8.26

8.26

8.26

8.26

8.26

8.26

8.26

8.26

8.26

8.26

8.26

8.26

8.26

8.26

8.26

8.26

8.26

10

20

20

20

50

60

50

60

20

50

50

50

50

10

60

20

20

30

10

40

20

10

40

50

30

30

50

40

40

50

[H& 55114 =

& 51199 =¢

[H& 55118 =

& 53784 =+

[H& 52934 =t

& 52934 =¢

MIZ 8938 Xl
[H& 5332 =HZI
[HH 5465 =X

SEESV
[HH 5322 =HXI

& 5257H =+

& ZF 15534 =TT 2
#

[H& 54754 =TI

SLEIL

[HX 5470 =TI

[H& 53984 =txI

[H& 54524 =t

X 54834 =l

X 54284 =HEI

SEEIT

X 54564 =HEI

[H& 54564 =tz

TIXHHE

IXh 2

o4

IX} 2

IXh 2

I
o
Ot

i
o
O

I
o
Ot

1
o
O

i
o
Ot

ik
o
O

i
o
Ot

1
o
O

i
o
Of

1
o
OfH

1M
o
Of

1
o
Ot

1M
o
O

I
o
0t

1M
o
O

i
o
O

i
o
O

I
o
Ot

i
o
O

I
o
Ot

i
o
O

I
o
Ot

ik
o
O

i
o
Ot

ik
o
O

i
o
Ot

1
o
O

1M
o
Ot

i
o
OfH

1M
o
Of

1
o
Ot

1M
o
O



3430

5479

5478

5477

5476

5475

5474

5473

5472

5471

5470

5469

5468

5467

5466

5465

5464

5463

5462

5461

5460

5459

5458

5457

5456

5455

5454

5453

5452

5451

5450

5449

5448

B

OIXHEH
1pka
Ol xHE
1pkd
OIXHE
1py
OIXHEH
OIxHe
OIXHEH
OIxHe
I
1pka
Ixne
OIxH
Ixpe
Ol XHE
Ixpe
OIXHEH
Ixpe
OIXHEH

1pka

1pk

Ixpe
OIxHE
OIxHe
OIXHEH
OIxHe
OIXHEH
OIxHe
Ixne
OixH

Ixne

8.26

8.26

8.26

8.26

8.26

8.26

8.26

8.26

8.26

8.26

8.26

8.26

8.26

8.26

8.25

8.25

8.25

8.25

8.25

8.25

8.25

8.25

8.25

8.25

8.25

8.25

8.25

8.25

8.25

8.25

10

40

60

20

30

10

10

20

20

20

20

10

50

20

40

40

20

30

20

30

20

40

10

40

30

20

50

10

40

40

A R B B R
N N R R N R

44

10
0x
44

14

44

44

Ity 5asgesasmin 2t

[H& 54309 =HZIT}H 2

e
e

[H& 5285

gici
[al
>
rk
r

X 5471

picl
a
!
T
I

fou}
X
o1
w
~
o1
rE
Jiot
>
=
e
o

12
1
4
=
Ot

[HE 5428 =HXIT} 2H

[H& 5428 =tXITt 2EH

[HE 5467 =HXIT} 2H

=
Rl
o1
N
>
<
rE
ot
gl
d
e
i

[H& 54335 =TTt £+EH

18

BEN,

o4

12
Tor

EIN

o

[H& 54794 =HXIT} 2

e
=

[H& 53138 2HEIT}; 3

[H& 50208 =HXIXt 2

& 5200

Jot
>
=
e
r

[H& 54004

ot
[al
=
re
[+

X 5337

picl
al
b
re
r

[H& 54008 =HXIT}

I
I

ZrRlEt

1
o
O

I
o
Ot

i
o
O

I
o
Ot

ik
o
O

i
o
Ot

1
o
O

i
o
Of

1
o
O

1M
o
O

1
o
0fH

1M
o
Of

i
o
Ot

i
o
O

I
o
Ot

i
o
O

I
o
0t

i
o
O

I
o
Ot

ik
o
O

I
o
Ot

ik
o
Ot

i
o
Ot

ik
o
O

i
o
Ot

ik
o
O

i
o
Ot

il
o
OfH

1M
o
Of

1
o
OfH

1M
o
Of

I
o
OfH



5444

5443

5442

5441

5440

5439

5438

5437

5436

5435

5434

5433

5432

5431

5430

5429

5428

5427

5426

5425

5424

5423

5422

5421

5420

5419

5418

5417

5416

rAar

1pkad

Ol XHEH

1pkd

OIXHEH

1pkad

OIXHEH

OIxHe

OIXHEH

OIxHe

Ixne

OixH

Ixpe

Ol XHE

Ixpe

ifpykl

Ixhe

iyl

1pka

Ol XHE

Ixpe

OIXHE

1pkd

OIXHEH

OIxHEH

OIXHEH

1pykd

OIxH

OIxHe

Ixne

A+

8.25

8.25

8.25

8.25

8.25

8.25

8.25

8.25

8.25

8.25

8.25

8.25

8.25

8.25

8.25

8.25

8.25

8.25

8.25

8.25

8.25

8.25

8.25

8.25

8.25

8.25

8.25

8.25

8.25

70

20

40

40

20

40

20

30

40

50

20

20

20

40

60

20

20

ra

(1 o 5307pscEIxt 22t

i}

LreXITH 2

=

s

=
E-S

firs

& 5278 =HXITt 2EH

2]
A

Tor

53

=

=
=)

X 5344

Lok

fal
]
=

T

& 5362

ot
[al
=
re
[+

X 5362

Jot
r
=
e
r

& 5362

ot
[al
=
re
[+

[HX 5320

picl
al
b
re
r

& 5238H

ot
[al
=
re
i

[HX 5343

picl
al
b
re
r

LN 4944

ok
gl
e
e
r

-

& 52619 =t

rA
pn]
r

=

12

SHEL

=

o

12

BEN,

O

pirs

[H& 53184 =HXITt 2E

[H& 5383 =HXIT} 2

[

r

2]
]

Tor

53

=

=
)

& 5428H =tXIT}H 2

[

r

[H& 5396 =HXITH &

e

dl

=5 SH 681 =TT 2T

[HE 5339t =HXIT} 2H

[H& 5311 =HXIT} 2

[

r

FUTYd FAFTHd ALTITE T3

I

e
o
O

I
o
Ot

i
o
O

i
o
Ot

ik
o
O

1M
o
Ot

1
o
O

i
o
Of

i
o
OfH

1M
o
O

in
o
Ot

i
o
Of

I
o
Ot

1M
o
O

I
o
Ot

i
o
O

I
o
0t

ik
o
O

I
o
Ot

e
o
O

ik
o
Ot

1
o
O

i
o
Ot

ik
o
O

I
o
O

1
o
O

1M
o
O

1M
o
O



R R S
5413 O] fHe 8.24 50 =37 HstX AL = Al 5
5412 Ol 8.24 30 (=P~ HASIX AL = Al 5
5411 O] xHeH 8.24 30 M3 M2 ST &3 Al &
5410 Ol 8.24 70 M3 =2 22X 68H SEIT}; 2+ Al 5
5409 O] XHeH 8.24 80 s3 =82 22X g8 SXITH 2 Al &
5408 Ol 8.24 50 s =2 22X 68H SEIT; 2+ Al 5
5407 O] XHeH 8.24 70 [SFu HetX AL = Al &
5406 O] XHEH 8.24 60 E [H& 5122 SHXIT} 243 Al 5
5405 O] XHeH 8.24 20 [Py SstX AL = Al &
5404 O] XHEH 8.24 40 [SFSjm) [H& 5320 =HXIT} 243 Al 5
5403 Ol 8.24 10 M3 [H& 53368 =HXIX; 22 A 3
5402 O] XHH 8.24 40 M3 [H& 5336H =TI} & Al 5
5401 Ol 8.24 30 B [H&X 5363H = XX} 2+ Al 3
5400 O] XHeH 8.24 30 s3 IS Al 5
5399 Ol 8.24 30 N3 [H&X 5237H = XX} 2+ Al 3
5398 O e 8.24 30 M3 AstXAL = Al 5
5397 Ol 8.24 20 H=H3 HASIX AL = Al 3
5396 O] fHeH 8.24 40 s3 A= 9400 SHEIX}; &+ Al 5
5395 Ol 8.24 40 = [H& 4848H =t XIT} 2+ Al 5
5394 O] fHeH 8.24 40 [SPSjm) ME 30628 SHEIX; 2+ Al 5
5393 Ol 8.24 20 M3 [HF 5316H =HXIX} &+ Al 5
5392 O] XHH 8.24 10 M3 [H& 5358 SHXIX}; 2 Al &
5391 Ol 8.24 40 M3 [HF 5358H =t XIT} 2+ Al 5
5390 O] XHH 8.24 40 M3 [H& 5358 SHXIX}; 21 Al &
5389 Ol 8.24 20 M3 [H& 5293H =HXIT} 243 Al 5
5388 O] XHeH 8.24 30 pp et XA = Al &
5387 O] XHEH 8.24 ESEII[R== M3 M= SR 2 Al 5
5386 O] XHeH 8.24 40 M3 HASIX AL S Al &
5385 O] XHEH 8.24 20 M3 IS Al 5
5384 Ol 8.24 60 N3 [H& 53268 =HXIX; 22 Al 3
5383 O] XHH 8.24 20 P IS Al 5
5382 Ol 8.24 50 QY [H& 5292 = XIT} 2+ Al 3



i3

5380
5379

5378
5377
5376
5375
5374
5373
5372
5371
5370
5369
5368
5367
5366
5365
5364
5363
5362
5361
5360
5359
5358
5357
5356
5355
5354
5353
5352
5351

5350

5349

=
OH

OIxpe

1pka

OIxpe

1yl

1pkd

Iyl

1pkad

1pulsl

OIxHe

iyl

OIxHe

Ixne

OIxH

Ixpe

OIxHE

Ixne

01 XHH

Ixhe

Ol XHH

1pka

Ipulsil

OIxpe

Iyl

OIxpe

1yl

Ixpe

1yl

OIxHe

Ixne

1pka

I

Ixne

8.24

8.24

8.24

8.24

8.24

8.24

8.24

8.24

8.24

8.24

8.24

8.24

8.24

8.24

8.24

8.24

8.24

8.24

8.24

8.24

8.24

8.24

8.24

8.24

8.24

8.24

8.24

8.24

8.24

8.23

40

20

30

40

30

20

30

60

60

20

50

40

20

20

20

30

40

70

30

50

10

40

20

50

30

20

40

O
14

r

THE 5168, SEIX} 2124

[H& 5325 =TTt 2

£2 8T NI B

SEEITE
T4 51908 2T} 2E
THE! 53358 RN} 22

& 5334H

JE

TIX} 2k

[H& 5334 =hXIXt 2

[H& 43211 =TT 2

[H& 53108 =HXIXt 2

BI| YA BEIT} B

SUkT

A 5

I
o
Ot

I
o
Ot

1M
o
O

i
o
Ot

1
o
O

1M
o
Ot

1
o
O

1M
o
Ot

in
o
OfH

1M
o
Of

i
o
Ot

i
o
Of

I
o
Ot

1M
o
O

I
o
Ot

i
o
O

I
o
Ot

i
o
O

I
o
Ot

i
o
O

I
o
Ot

1
o
O

i
o
Ot

1
o
O

i
o
Ot

I
o
O

1M
o
Of

1
o
0t

1M
o
Ot

i
o
Ot

I
o
Ot



5428
5347
5346
5345
5344
5343
5342
5341
5340
5339
5338
5337
5336
5335
5334
5333
5332
5331

5330

5329

5328
5327
5326
5325
5324
5323
5322
5321
5320
5319
5318
5317

5316

Ol XHH

01 xHEH

Ipulsl

Ol xHEH

1yl

01 xHEH

1yl

01 xHEH

1yl

Ol xHEH

01 xHEH

Ol xHEH

01 xHEH

Ol xHEH

01 xHEH

Ol xHEH

Ol xHEH

Ol XHH

Ol XHH

O1xHH

01 xHEH

Iyl

01 xHEH

1yl

Ol xHEH

1yl

OIxHEH

1yl

Ol xHEH

OIxHEH

Ol xHEH

01 xHEH

8.23

8.23

8.23

8.23

8.23

8.23

8.23

8.23

8.23

8.23

8.23

8.23

8.23

8.23

8.23

8.23

8.23

8.23

8.23

8.23

8.23

8.23

8.23

8.23

8.23

8.23

8.23

8.23

8.23

8.23

8.23

40

40

50

30

20

40

20

60

40

40

50

20

80

40

20

30

40

10

30

30

20

20

30

20

20

10
0x
44

10
0x
44

[

ik
o
O

i
o
O

I
o
Ot

i
o
O

i
o
Ot

ik
o
O

i
o
Ot

I
o
O

i
o
Ot

1
o
OfH

1M
o
O

in
o
Of

1M
o
Of

i
o
Ot



8% | EEE | 2IY R 132%%”” s ZES
5314 | O | 823 | 20 M7 [HE 5258w ST B Aol 5
5313 O] fHe 8.23 30 M= HASIX AL S Adl 3
5312 | O 823 | 10 B ST E Hal 5
5311 | O 823 | 20 z3 ST E 23l &
5310 | O | 823 | 50 oK ST E 23l 5
5309 | O | 823 | 20 z3 ISR Z #3) 5
5308 | O | 8.23 mzq;ror M| OHE 50808 ST A 22z
5307 | O 823 | 10 M3 DH% 52808 ST B 23l &
5306 Ol 8.23 30 (SFS [H& 5283H =HXIX} 2+ Adl =
5305 | O | 823 | 20 M3 OHE 47574 s pa Hal 5
5304 Ol xHEH 8.23 20 M3 [H&H 4757H SHXIT; 243 Hdl &
5303 | O | 823 | 40 ox7 ST Z Hal 5
5302 OlxHe 8.23 40 7 St XA = 2RI ES
5301 | O | 823 | 20 BT | OHE 50208 SHEIT B3 Hal 5
5300 O] xHH 8.23 20 =7 =Y SAH =T 2 Al =
5209 | O | 823 | 40 e ST E Hal 5
5298 O] fHeH 8.23 50 M3 [H&X 5236H =HXIT} 23 Al =
5207 | Ol | 823 | 20 z3 ST E Hal 5
5296 O] fHe 8.23 20 e HASIX AL S E<RIIES
5205 | O | 823 | 20 e ST E Hal 5
5294 Ol 8.23 20 4 [H&X 5104H = XX} 2+ Al 3
5203 | O | 823 | 20 e OISIEA E Hal 5
5202 | O | 823 | 50 43 ST Z 23l &
5291 Ol xHH 8.23 60 Sy [H& 5236H =HXIX}; 2t Al =
5200 | O | 823 | 30 M7 OHE 5270w 2T} B 23l &
5289 Ol xHEH 8.23 40 M3 [H& 5258H =HXIT}; 2t Adl =
5288 Ol 8.23 20 M3 [H&X 5263H =HXIT} 2+ Al 3
5287 Ol xHEH 8.23 20 M3 St XA = Adl =
5286 Ol xHH 8.22 20 =32 [H& 52854 = XIT} 2+ Hdl =
5285 Ol xHEH 8.22 30 M3 = 34160 SHXIT; 2 Hdl =
5284 | Ol | 822 | 20 2 O 47708 0T B Hal 5
5283 OlxHEH 8.22 40 M3 SSIXAL S Al =



3382

5281

5280

5279

5278

5277

5276

5275

5274

5273

5272

5271

5270

5269

5268

5267

5266

5265

5264

5263

5262

5261

5260

5259

5258

5257

5256

5255

5254

5253

5252

5251

5250

B
OIXHEH
1pka
OIXHEH
1pkd
OIXHE
1pkad
OIXHEH
1pkd
OIXHEH
OIxHe
Ixne
1pka
I
OIxH
Ixhe
Ol XHE
Ixpe
OIXHEH
Ixpe
OIXHEH
1pkd
Ol xHE
OIxhe
OIXHE
Ixpe
OIXHEH
OIxHe
OIXHEH
OIxHe

I

Ixne

Ixne

8.22

8.22

8.22

8.22

8.22

8.22

8.22

8.22

8.22

8.22

8.22

8.22

8.22

8.22

8.22

8.22

8.22

8.22

8.22

8.22

8.22

8.22

8.22

8.22

8.22

8.21

8.21

8.21

8.21

8.21

8.21

8.21

20

10

40

10

50

20

50

20

10

50

20

40

30

20

20

40

20

40

20

20

60

20

20

20

40

10

40

40

30

40

SEEANTI(
S0

=
il
1

10
%
44

A tin aoosssssixt 2t

12

EEI

OfH

12
1o
Il
=
Oof4

12
1
A
=
Ot

12
1o
A
=
o4

12
1
4
=
Ot

18
1%
A
=
Oof4

12
1
P
=
Ot

18
1%
A
=
o1

[H& 49334 =tXIT} 24

HH

[HE 5163 =HXIT} 2H

& 51530 =hXITt 2E

[HE 4898HH =HXIT} 2H

[HE 49448 BHEIT} 22

ZrlEt

1
o
O

I
o
Ot

i
o
O

I
o
Ot

ik
o
O

i
o
Ot

ik
o
O

i
o
Ot

i
o
O

1M
o
Ot

i
o
OfH

1M
o
Of

I
o
Ot

1M
o
O

ih
o
Ot

i
o
O

I
o
Ot

i
o
O

I
o
Ot

i
o
O

I
o
Ot

1
o
O

I
o
Ot

ik
o
O

i
o
Ot

ik
o
O

i
o
Ot

I
o
O

1M
o
O

1
o
0fH

i
o
Ot

I
o
OfH



49

5248
5247
5246
5245
5244
5243
5242
5241
5240
5239
5238
5237
5236
5235
5234
5233
5232
5231
5230
5229
5228
5227
5226
5225
5224
5223
5222

5221

5220

5219

5218

raa=

Ixpe

npuksl

1pkd

OIXHE

OIxpe

OIXHEH

1pkd

OIXHEH

OIxHe

OIXHEH

OIxHe

I

OIxH

Ixhe

OIXHE

Ixne

ipylkl

Ixhe

ifpykl

Ixpe

Ol xHE

1pkd

OIXHE

OIxpe

OIxHEH

OIxHe

OIXHEH

OIxHe

OIxH

OIxHe

Ixne

A+

o
[Val
E
o T
8 omogh

8.21

8.21

8.21

8.21

8.21

8.21

8.21

8.21

8.21

8.21

8.21

8.21

8.21

8.21

8.20

8.20

8.20

8.20

8.20

8.20

8.20

8.20

8.20

8.20

8.20

8.20

8.20

8.20

8.20

8.20

20

20

40

10

20

10

20

60

30

50

20

20

10

20

30

40

50

50

30

20

20

30

60

10

20

20

An

O
14

0
R

=
N
14

10
0x
44

10
0x
44

10
0x
44

10
0x
44

10
0x
44

==

THX 48288FEIT} mead

X 4660

& 51474

X 5104

& 4641

X 5188

& 51884

&J| 1% 50874 =HEITt &

SEE IV

=

T Fa7A

ALTITI TIL3d

I
o
Ot

i
o
O

I
o
Ot

i
o
O

i
o
Ot

1
o
O

i
o
Ot

e
o
O

1M
o
Ot

1
o
OfH

1M
o
O

1
o
OfH

1M
o
O

i
o
Ot

1M
o
O

I
o
Ot

i
o
O

I
o
Ot

ik
o
O

I
o
Ot

i
o
O

ik
o
Ot

1
o
O

i
o
Ot

1
o
O

i
o
Ot

1
o
O

1M
o
O

1M
o
O



e —— S —
g% | nfE | B2 | R [ 51888 SHIT} 22t =
5215 O] fHe 8.20 40 [H&X 5188H =XIT} 2 Adl =
5214 | DI# | 820 | 50 4% 51888 BRI} 22t 23 5
5213 [ piksl 8.20 60 [HX 5188H =rXIT} 2+ Al 3
5212 | O | 820 | 10 oISEA & 23 5
5211 | O | 820 | 50 ostEN = %3 5
5210 | DIt | 820 | #stor HIE 8938 BRI} Bt 235
5200 | O | 820 | 30 orstEN = 23| 5
5208 Ol 8.20 60 [H& 5157H XX} 2 2RI S
5207 | O 820 | 20 orstEL = 23| 5
5206 OlHe 8.20 50 SSIXAL S Al =
5205 Ol 8.19 60 [H&X 5188H = XIT} 2+ A 3
5204 OlHe 8.19 20 SSIXAL S RIS
5203 OI# | 819 | 50 ISIEA B 23 5
5202 OlxHe 8.19 40 [H& 5012H SHEIX}; 243 Al =
5201 | DM | 819 | 10 ISEA & 23 5
5200 O] XHH 8.19 20 [HX 5153H =HXIT} 23 Al =
5199 | OIM# | 819 | 60 DR 48788 SHEIT 22t 23 5
5198 O] fHeH 8.19 30 SR B Hdl =
5197 | DI# | 819 | 60 ou3 ISEA & 231 5
5196 O] fHe 8.19 60 e HASIX AL S Al 3
5195 | DM | 819 | 10 HET | CHE 5001H ST} B 23 5
5194 Ol 8.19 20 =32 HASIXZ AL S Al 3
5193 Ol xHEH 8.19 40 [H& 4944H SHXIT} 2t A4 =
5192 Ol 8.19 50 [HH 5119H SHXIT}; 24 Al 3
5191 Ol xHEH 8.19 40 [H& 4866H =HXIX}; 2t Hdl =
5190 | O | 819 | 60 orstEN = z
5189 Ol 8.19 10 [H& 4637H SHXIX}; 243 2RI S
5188 | O | 819 | 50 ISIEA & 23| 5
5187 OlxHe 8.19 20 SSIXAL Adl =
5186 | OIM# | 819 | 50 ISEA E 23 5
5185 OlxHe 8.19 50 SSIXAL = 2RI ES
5184 | D | s19 | Do0N oy OISIEA E 53 5



§183

5182
5181
5180
5179
5178
5177
5176
5175
5174
5173
5172
5171
5170
5169
5168
5167
5166

5165
5164

5163
5162
5161
5160
5159
5158
5157
5156
51565
5154
5153
5152

5151

J
=)
Mg

Ixpe

npuksl

OIxpe

OIXHE

1pkd

OIXHEH

1pkad

OIXHEH

OIxHe

OIXHEH

OIxHe

Ixne

OIxH

Ixpe

OIxHE

Ixne

ipyll

Ixhe

Ixpe

1pkad

OIxHE

1pkd

OIXHEH

1pkd

OIXHEH

1pkd

OIXHEH

OIxHe

I

OIxHe

Ixhe

Ol

8.19

8.19

8.19

8.19

8.19

8.19

8.19

8.19

8.19

8.19

8.19

8.19

8.19

8.19

8.19

8.19

8.19

8.19

8.19

8.19

8.19

8.19

8.19

8.19

8.19

8.19

8.19

8.19

8.19

8.19

8.19

10

40

10

10

20

20

20

30

20

10

20

20

20

30

40

70

70

60

50

20

40

40

20

50

60

50

60

40

30

30

10
0x
44

10
0%
14

10
0x
44

o4
14

O 0o O
1 14 R

Ot
1

A
i 0x
W04

Ot

Of

PSEST]
[HX 517G <RIt 2He

[ 51048 =HXIX 2
[H& 571048 =HXIXt 2
EEEIUES

& 51040 =HXITH 2E

& 51074 =TIt 2

[H& 4904 =HXITH 2E

[H& 3042 =HEIT}; 23

12
1%
A
=
Of

12

BEN,

O

[H™ 51508 ZHXITt 2+

x;:[ |;‘o'}'
= =

I
o
Ot

i
o
O

I
o
Ot

1M
o
O

i
o
Ot

1
o
O

i
o
Ot

1
o
O

1M
o
Ot

in
o
OfH

1M
o
Of

i
o
Ot

i
o
Of

i
o
Ot

1M
o
O

I
o
Ot

i
o
O

I
o
Ot

I
o
Ot

I
o
Ot

1
o
O

I
o
Ot

ik
o
O

i
o
Ot

ik
o
O

i
o
O

I
o
O

1M
o
O

in
o
0fH

1M
o
O

in
o
Ot

I
~
M



£48h
5149
5148
5147
5146
5145
5144
5143
5142
5141
5140
5139
5138
5137
5136

5135

5134

5133
5132
5131
5130
5129
5128
5127
5126
5125
5124
5123
5122
5121
5120
5119

5118

B
OIXHEH
OIxpe
Ol xHE
Ixpe
OIXHEH
1pkd
OIXHEH
Ixpe
OIXHEH
OIxHe
Ixne
OIxH
Ixne
OIxH

Ixpe
Ixne

Ixpe
OIXHEH
1pkad
OIXHEH
1pkd
OIXHEH
1pkd
OIXHEH
1pkd
OIXHEH
OIxHe
OIxHEH
OIxH
Ixne
OIxHe

Ixpe

B¢
8.19
8.19
8.18
8.18
8.18
8.18
8.18
8.18
8.18
8.18
8.18
8.18
8.18
8.18

8.18

8.18

8.18
8.18
8.18
8.18
8.18
8.18
8.18
8.18
8.18
8.18
8.18
8.18
8.18
8.18
8.18

8.18

ks
1o
=

Ofn

30

60

40

10

20

20

50

60

60

20

40

10

60

10

10

40

10

20

50

40

50

20

40

20

50

30

=
il
RN

=
il
1

=
il
RN

0
1

O
1

44

Of

=
il
1

10
0x
44

=
]
1

=
il
RN

=
]
1

=
]
1

=
]
14

=
il
RN

O
14

O
1

0t
14

= o D=
ain X fiin 0x
e S R A Y

10
0x
44

=
il
RN

10
0x
44

[H& 49331 =HXIT}; 3

MIE 7834

=

ra
N
=
(o2}
rE
ot
gl
]
pc]
e

H3| 5
A2 5
H3| 5
A2 5
A2 5
e<EIES
A2 5
EEIES
A2 5
EEIES
A2 5
A3 5
A2 5
A3 5
A2 5
A2 5
eFIES
H3| 5
A2 5
H3| 5
e<FIES
%2 5
A2 5
%2 5
eEIES
%2 5
A3 5
A2 5
EEIES
A2 5
H3 5

i
o
Ot



gHEy

5116

5115

5114

5113

5112

5111

5110

5109

5108

5107

5106

5105

5104

5103

5102

5101

5100

5099

5098

5097

5096

5095

5094

5093

5092

5091

5090

5089

5088

5087

5086

B
1pkad
OIXHEH
1pkd
OIXHEH
1pkd
OIXHEH
OIxpe
OIXHEH
OIxHe
OIXHEH
OIxH
Ixhe
OIxHe
Ixpe
Ol XHE
Ixne
OIXHEH
Ixpe
OIXHEH
Ixpe
Ol xHE
Ixpe

OIXHE

OIXHEH

OIXHEH
1pkd
OIXHEH
1pykd

I

Ixne

I

8.18

8.18

8.18

8.18

8.18

8.18

8.18

8.18

8.18

8.18

8.18

8.18

8.18

8.18

8.18

8.18

8.18

8.18

60

30

50

20

10

20

60

40

30

Of
R

o4
14

O
14

[H& 50508 24!

[H& 5004 =HXIXt 2

& 51018 =X 2E

[H& 51014 =Xt 2

12
1o
A
=
o1

I
o
Ot

ik
o
O

I
o
Ot

i
o
O

i
o
Ot

ik
o
O

i
o
Ot

1
o
O

1M
o
Ot

il
o
OfH

1M
o
Of

1
o
Ot

1M
o
O

I
o
0t

1M
o
O

I
o
Ot

i
o
O

I
o
Ot

ik
o
O

I
o
Ot

i
o
O

I
o
Ot

1
o
O

ik
o
O

ik
o
O

i
o
Ot

1
o
O

1M
o
Ot

1
o
0fH

1
o
Ot

i
o
Ot



5085
&

5084

5083

5082

5081

5080

5079

5078

5077

5076

5075

5074

5073

5072

5071

5070

5069

5068

5067

5066

5065

5064

5063

5062

5061

5060

5059

5058

5057

5056

5055

5054

rarna

nH=
0F =
oxrE

1pUk

ipylsl

OIxhe

Ol xHE

OIXHEH

OIXHEH

1pykd

OIXHEH

OIxHe

OIXHEH

OIxHe

I

OIxH

Ixne

OIXHE

Ixne

ipylkl

Ixhe

ifpyll

Ixpe

Ol xHE

1pkd

OIXHE

OIxpe

OIxHEH

OIXHEH

OIXHEH

OIxHe

I

OIxHe

Ixne

AL+

20

20

20

60

40

20

50

40

20

30

40

50

40

20

70

30

50

50

70

60

50

30

An

=
10
14

=
il
R

0t
14

O
1

=
1

O
1

O
1

10
%
44

10
0x
44

H& 47374 =2HXIT;

[

rt

& 50474

It
gl
b
T
3

[N 4944

gicl
[al
=
rk
ru

X 5031¢

picl
a
!
T
I

& 4848

ot
[al
=
e
i

[ 5039

picl
a
!
T
m

H& 49154 =HXIT} 2

I
I

ASEX
L=}

JOI‘

_>,:

=
S

& 50118 XXt &

[

orsix

=
Ot

& 47454

ok
[l
fe|
e
r

X 4914

il
al
!
rk
r

[H& 5056H

o
gl
feu|
e
r

[H& 50538 =HZIT}H 2

e
I

MELT X

73 5
EXIAFE
73 5
7l 5
73 5
7l 5
7l 5
Al 5
7 5
Al 5
7| 5
=S
7l 5
73 5
7l 5
=S
7 5
=R
7| 5
RIS
7l 5
73 5
7l 5
73 5
Al 5
73 5
73l 5
Al 5
#l 5
7 5
73
7 5
73 5



VUOJ OTAT =T O. 10 oU XTI+ HEHLATS =085
B HEE | 99E 0B hn T «iE: S
5051 O] fHe 8.16 20 M3 HstX AL = A 5
5050 Ol 8.16 20 M3 HASIX AL = Al 5
5049 O] xHH 8.16 30 M3 HetX AL = Al &
5048 Ol 8.16 10 g [H& 43218 SHXIX; 242 Al 5
5047 O] XHH 8.16 20 s3 [H& 50318 =HEIX; &+ Al &
5046 Ol 8.16 20 M3 [H&X 5014H SHXIT} 24 Al 5
5045 O] XHeH 8.16 30 s3 [H& 50068 =HEIX; &2 Al &
5044 Ol 8.16 20 M3 St XA = Al 5
5043 O] XHeH 8.16 | Fsor= M3 [H& 50418 SHXIX; 22 Al &
5042 O] XHEH 8.16 30 M3 [H&X 5003H =HXIT} 243 Al 5
5041 Ol 8.16 30 M3 HASIXZ AL = A 3
5040 O] XHEH 8.16 60 = [H& 5003H =TI} 23 Al 5
5039 Ol 8.16 60 = HASIX AL = Al 3
5038 O] XHH 8.16 20 M3 [H&E 5014H SHXIT}F 23 A 5
5037 Ol 8.16 60 QY32 [H& 44828 =X} 22 Al 3
5036 O e 8.16 40 S43 MZE 2HEIX; A 5
5035 Ol 8.16 30 E HASIX AL = Al 3
5034 O] fHe 8.16 20 M3 [H& 50184 SHXIX}; +24 Al 5
5033 Ol 8.16 70 HEH3 [H& 50018 2HEIX; 242 Al 5
5032 O] fHe 8.16 20 M2 HstX AL = Al 5
5031 Ol 8.15 30 = ZJ| 29 SR Al 5
5030 O] XHeH 8.15 40 M3 [H& 4858 =HXIX}; &2 Al &
5029 Ol 8.15 10 [=FS ) [H& 4980 =HXIX; 242 Al 5
5028 O] XHeH 8.15 40 [SF [H& 4447 SHEIX; 22 Al &
5027 Ol 8.15 60 3 HASIX AL = Al 5
5026 O] XHeH 8.15 10 H=32 [H& 46058 =HEIX; 22 Al &
5025 O] XHEH 8.15 50 H=H32 [HH 4840H =HXIT} 24+ Al 5
5024 O] XHeH 8.15 30 [SF SstX AL = Al &
5023 O] XHEH 8.15 40 e & 4917H SHXIT}F 243 Al 5
5022 Ol 8.15 30 pp [H& 49268 =HXIX}; 223 Al &
5021 O] XHH 8.15 40 M3 IS Al 5
5020 Ol 8.15 20 = HASIX AL = Al 3



Kt

OIxpe 8.15 20 SE

5018

Kio

OlxHe 8.15 30

5017

Kio
Rr

rk
Ko

1pkad 8.15 50

5016

Kio
Rr

rk
Ko

40

OIXHE 8.15

5015

Kio
Rr

OIxHEH 8.15 20

5014

Kio
Rr

r+
X0
O

OIxHEH 8.15 30

5013

Kio
Rr

il

OIxHE 8.15 40

5012

Kio
Rr

rt
140

40

I 8.15

5011

Kio
Rr

rr
10

OIxHe 8.15 30

5010

Kio
Rr

rt
140

OIXHEH 8.15 20

5009

Kio
Rr

rr
Ko

Ol xHE 8.15 50

5008

Kto
Rr

r
1o

Ixne 8.15 20

5007

Kio
Rr

r+
ar

Ol xHE 8.15 50

5006

Kto
Rr

r+
ar

Ixhe 8.15 30

5005

Kto

Ol xHe 8.15 30

5004

Kio
Rr

r+
ar

Ixhe 8.15 50

5003

Kio

Iyl 8.15 20

5002

Kto
Rr

rr
ar

Ixpe 8.15 30

5001

o
[Tm|
=
[aC
Ll
wn
L
o
w
T
ac
o
o
]
]
<<
>
=
(@)
=
<
=
]
o
o
o
o
—
Ll
=
=
o
L
-
Ll
=t
()]
L




	대전광역시 코로나19 현황
	확진자 현황


